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1.2 HEANETYEHIR, &

BRERE ) 1.2.1.

(2)
(a,b) € T < F(a,b)=C
& F(—a,b)=C
& (—a,b) € HZRT
FRPA T 3 y- Sl .
®3)
(a,b) € AT < F(a,b)=C
& F(—a,-b)=C
& (—a,—b) € HET
Fir LA T S [ B 3 7.

1.2.2.
(1)

yY=1-2> = y==2V1-22, —-1<z<1
) 2 2 b
3;72:1_272:>y:ig a?—22, —a<z<a
3) o b
y_°z -1 = y=%+-Va2-a?2 z2<-aFHzx>a
b2 a2 a
(4)
rE+/(—2)2 —4(z2 -1
-yt (@ -1)=0 = y= VI )2 ( )
x+ V4 — 322
= y=
2
2 2
-2 <p< 2
V3 V3



1.2.3.

(1) & Flz,y) =y—2°, REDH F(x,y) THEIEE R 0, I (0 B ) B
i £ B,

(2) & F(x,y) =y — tanz, WEH F(X,y) NweEE R 2 G M:, BRI sE mEH Bt
B e fEME. BRA ¢y = tanx S77 KRB BN SR B FE.

(3) & F(z,y) =y — (z* — 22 + 1), BEH F(z,y) = F(—=,y) WERE y-@iEE.

(4) & Fla,y) = 4 -y — 1, REH Fa,y) = F(-=,y), F(z,y) = F(z,~y), F(z,y) =
F(—, —y) SES o~y BB,

(5) & F(z,y) = y? — 4o, BEA F(x,y) = F(x, —y), EFE o-HEHHE.

(6) % F(z,y) =22 —zy+y?> — 1, BEHR F(v,y) = F(—x,—y), F(z,y) = F(y,z), $&
R B y = ¢ HE.

1.2.4.
SRR =i DR
(a,b) ey=X Xz +aWEFE < (ba)cy=px+BHEFR

GINAL
b=X+a <& a=upb+p

EEMAEER o M1 b mE THITTEA, B e % A

Aa—b = —a

a—ub = B
FR A T A2 AH B 1 A

Al e

L

HIEATE N u=1H A\8+a=0.



1.2.5.

(1) B% f(o) AREET S oS8R, ERREBET L—8 (o, f(a)), HREE (a,—f(a))
WAERBE T L, BREN 2 = o REEE—HEZRHE, A fa) = —f(a), 77
fla) =0, FET o B

(2) £ T Fmy = f(x) BYREHIAR.

(a,0) el & b= f(a)
& b= f(-a) (BFH)
& (—a,b) el

EETHEE (a,b) ERBAE T |, (—a,b) DEMEREIE F RE y— f(z) 1
R - S,
(3) & T £R y = f(x) M RBHLR.

(a,b) eT < b= f(a)
& —b=—f(a)=f(-a) (EH)
< (—a,-b)el

EETEHEE (a,b) ERMEE T L, (—a,—b) LEBERBEE L, RE y = f(2)
B R BT 2 B 47

1.2.6.

BEE: y=cosa,y=at -1, y=2.
FFPRE: y =tanx, y = x

1+ a2
HTRE: y=loguz.

1.2.7.

(1) (cost)? + (sint)? = 1, ATLL (cost,sint) /& 22 +y? = 1 IS E.
(2) % 1+ (tant)? = (sect)? = (sect)?—(tant)* =1, FTlA (sect, tant), -5 <t < J,
22 —y? =1 iz

(3) K% M + (sint)? = (cost)? + (sint)? = 1, LA (2cost,sint) & & +y? =1 B2
=

(4) B (t2)2— (t3) =t —t =0, FilL (t2,43), ¢ > 0, & 2% — 3 = 0 (S H.

(5) WA 213 —t) =2- (2 —t), ATLL (3 —,2(t3 — 1)) & y = 20 B HA.

(6) F% (F(1)) — F((1)) = F(E) — F(&) = 0, FREL (8 F(8)) 2 y — F(@) = 0 HIZHSE,

1.2.8.
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